Date	Day	Time	Event	Place	Board Members Attending
			March 2024		
3/20/24	Wednesday	10:30 a.m.	School Board Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
3/26/24	Tuesday	6:00 p.m.	Dr. Joseph L. Carwise Achievement Awards Invitation Only	Clearwater High School 540 S. Hercules Ave, Clearwater, FL 33764	CC,EL
3/28/24	Thursday	10:00 a,m.	3DE Senior Year Consultancy – Final Presentation Invitation Only	St. Petersburg High School 2501 5 <sup>th</sup> Ave N St. Petersburg, FL 33713	
			April 2024		
4/2/24	Tuesday	6:00 p.m.	Vyrle Davis African American Awards Invitation Only	Gibbs High School 850 34 <sup>th</sup> St S St. Petersburg, FL 33711	CE
4/3/24	Wednesday	10:00 a.m.	2 <sup>nd</sup> Annual Innovators Showcase (3DE) Invitation Only	Raymond James Trust NA 880 Carillon Pkwy St. Petersburg, FL 33716	CC,CE,LH,DP
4/6/24	Saturday	11:00 a.m. – 1:00 p.m.	Celebrating 71 School Years at Skycrest Elementary Invitation Only	Skycrest Elementary 10 Corona Ave Clearwater, FL 33765	СС
4/8/24	Monday	6:00 p.m.	Maria Edmonds Awards Invitation Only	Ruth Eckerd Hall 1111 McMullen Booth Rd Clearwater, FL 33759	CC,EL
4/9/24	Tuesday	5:00 p.m.	School Board Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
4/10/24	Wednesday	7:30 a.m.	Pinellas Park High School's Emergency Response Program Invitation Only	Pinellas Park High School 6305 118 <sup>th</sup> Ave N Largo, FL 33773	CE
4/10/24	Wednesday	3:30 p.m.	PCS Community Discussion	Gibbs High School Media Cntr 850 34 <sup>th</sup> St S St. Petersburg, FL 33711	CE,DP
4/15/23	Monday	6:30 p.m.	PRIDE Awards Invitation Only	Ruth Eckerd Hall 1111 N McCullen Booth Road Clearwater, FL 33759	LC,CC,CE,LH,EL,SM,DP

Date	Day	Time	Event	Place	Board Members Attending
4/16/24	Tuesday	9:30 a.m.	School Board Workshop	Administration Building Cabinet Conference Room 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
4/17/24	Wednesday	7:30 a.m.	PCS Honors Breakfast Invitation Only	USF, St. Petersburg 140 7 <sup>th</sup> Ave S St. Petersburg, FL 33701	СС
4/18/24	Thursday	11:00 a.m.	PTC National Signing Day Invitation Only	PTC – Clearwater 6100 154 <sup>th</sup> Ave N Clearwater, FL 33760	CC,DP
4/18/24	Thursday	11:00 a.m.	PTC National Signing Day Invitation Only	PTC – St. Petersburg 901 34th St S St. Petersburg, FL 33711	CE,LH
4/23/24	Tuesday	10:30 a.m.	School Board Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
4/23/24	Tuesday	6:00 p.m. doors open 6:30 p.m. show begins	Walker's Rising Stars Invitation Only	Mahaffey Theater 400 1st St S St. Petersburg, FL 33701	
4/30/24	Tuesday	6:00 – 7:00 p.m.	PACTE Awards Ceremony Invitation Only	Pinellas Park High School Auditorium 118 <sup>th</sup> Ave N Largo, FL 33773	CE,LH,EL,SM,DP
			May 2024		
5/1/24	Wednesday	6:00 p.m.	School Board Student Recognition Invitation Only	Osceola Fund High School 9751 98th St Seminole, FL 33777	CC,CE,LH,SM
5/2/24	Thursday	6:30 check-in 7:00 a.m. breakfast	39th Annual Turnaround Achievement Awards Invitation Only	Banquet Masters 13355 49 <sup>th</sup> St N Clearwater, FL 33762	CE,LH,EL
5/3/24	Friday	6:30 p.m.	19th Annual Ryan Wells Foundation Evening with the Chefs Invitation Only	Sheraton Sand Key Resort 1160 Gulf Blvd Clearwater, FL 33767	CE
5/7/24	Tuesday	9:30 a.m.	School Board Workshop	Administration Building Cabinet Conference Room 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
5/7/24	Tuesday	6:00 p.m.	Museum of Fine Arts, St. Petersburg Celebrating 10 Years Bringing History & Art to Life! Invitation Only	Museum of Fine Arts 255 Beach Dr NE St. Petersburg, FL 33701	

Date	Day	Time	Event	Place	Board Members Attending
5/14/24	Tuesday	10:30 a.m.	School Board Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
			June 2024		
6/5/24	Wednesday	2:30 p.m.	2024 Substitutes of the Year Invitation Only	Stavros Institute 12100 Starkey Road Largo, FL 33773	CE,EL
6/11/24	Tuesday	5:00 p.m.	School Board Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
6/25/24	Tuesday	10:30 a.m.	School Board Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
6/25/24	Tuesday	Immediately Following the School Board Mtg.	School Board Workshop	Administration Building Cabinet Conference Room 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
			July 2024		
7/16/24	Tuesday	10:30 a.m.	School Board Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
7/23/24	Tuesday	9:30 a.m.	School Board Workshop	Administration Building Cabinet Conference Room 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
7/30/24	Tuesday	5:00 p.m.	School Board Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
7/30/24	Tuesday	6:30 p.m. Time Certain	School Board Budget Hearing	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
			August 2024		
8/13/24	Tuesday	9:30 a.m.	School Board Workshop	Administration Building Cabinet Conference Room 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP

Date	Day	Time	Event	Place	Board Members Attending
8/21/24	Wednesday	10:30 a.m.	School Board Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
			September 2024		
9/10/24	Tuesday	5:00 p.m.	School Board Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
9/10/24	Tuesday	6:30 p.m. Time Certain	School Board Budget Hearing	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
9/17/24	Tuesday	9:30 a.m.	School Board Workshop	Administration Building Cabinet Conference Room 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
9/24/24	Tuesday	10:30 a.m.	School Board Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
			October 2024		
10/8/24	Tuesday	10:30 a.m.	School Board Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
10/15/24	Tuesday	9:30 a.m.	School Board Workshop	Administration Building Cabinet Conference Room 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
10/22/24	Tuesday	5:00 p.m.	School Board Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
			November 2024		
11/12/24	Tuesday	10:30 a.m.	School Board Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP

Date	Day	Time	Event	Place	Board Members Attending
11/19/24	Tuesday	10:30 a.m.	School Board Organization Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
11/19/24	Tuesday	Immediately Following the School Board Organization Mtg.	School Board Leasing Corporation Meeting	Administration Building Conference Hall 301 4th Street SW Largo, FL 33770	LC,CC,CE,LH,EL,SM,DP
			Initials Represent Individual Board Members:  LC - Lisa Cane  CC - Carol Cook  CE - Caprice Edmond  LH - Laura Hine  EL - Eileen Long  SM - Stephanie Meyer  DP - Dawn Peters		
			*Invitations or information added since last week's calendar		